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Exercice 1 1.
Calculer et simplifier
2 3
A=((—3+5)x§)+% B=(‘72) 2 o a0 7
5 3 6
E 2
Calculer et simplifier
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Calculer et simplifier
1 N 1
A 5+2)5-12) p_4+3 4-\3 o (s+V3f (/53]
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4++3 4- J3
ECEE +
Développer puis simplifier
A=(-3x+2)(-2x-4)-3(x—-6)(2x+5)

B = (—7x> + 5)(=2x2 + 3x — 1) — 5x> (2x2 + 3x — 6) — 4x° + 35x* — 35x> + /2008
C=(-3x+2)(-5x* +2x—4)— 3(x— 6)(2x + 5)

EEEI g
Développer puis simplifier
A =(5-%)5+x)+3x2 —7x(2x—1) B=(xvV3-y)?—3x*>+2y> +3xy/3-5
C=(3xV7 +2)* —64x> —13x4/7 +114/5 D = (x/11 + y+/3)? —=12x? — 6y* — 13xy~/33
S © o I
Factoriser les expressions suivantes
A =(4x* —25)—(x—6)(2x+5) B=3x-7)"-(9x* —49) - 5x(3x—7)

C=25x> —30x+9+(3x—-7)(5x—3)—10x+ 6

| Bxercce g d
Factoriser les expressions suivantes
E=(3x-1)*-25 F=3x-1)°>-7 H=(3x-1)*-(x-3)?
K =23x-1)* - (x-3) M=(2x-7)*-16 T=81(3x—-2)* -16
[ Berce s I
Factoriser les expressions suivantes
(x*-9)—(x-3)2x-5)=0 (2x—3)> —(4x* —9)+3x(2x-3)=0
(5x+3)* +(3x—7)(5x+3)—10x—6=0 (V2x-3)* —(2x* - 9) + 3x(+/2x-3) =0

Bonne Chance
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